
SAP ABAP table MAPOV {Generated Table for View}

MAPOV

MANDT [CLNT (3)]

MATNR [CHAR (18)]

SPRAS [LANG (1)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

ZIEME [UNIT (3)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

RAUBE [CHAR (2)]

TEMPB [CHAR (2)]

NUMTP [CHAR (2)]

MEABM [UNIT (3)]

PRDHA [CHAR (18)]

KUNNR [CHAR (10)]

VERSG [CHAR (1)]

BONUS [CHAR (2)]

PROVG [CHAR (2)]

VMSTA [CHAR (2)]

SCHME [UNIT (3)]

VRKME [UNIT (3)]

SPART [CHAR (2)]

PRODH [CHAR (18)]

PMATN [CHAR (18)]

MTPOS [CHAR (4)]

DWERK [CHAR (4)]

MEINS [UNIT (3)]

TRAGR [CHAR (4)]

MATKL [CHAR (9)]

MTART [CHAR (4)]

KTGRM [CHAR (2)]

KONDM [CHAR (2)]

MVGR1 [CHAR (3)]

MVGR2 [CHAR (3)]

MVGR3 [CHAR (3)]

MVGR4 [CHAR (3)]

MVGR5 [CHAR (3)]

VHART [CHAR (4)]

MAGRV [CHAR (4)]

ERGEI [UNIT (3)]

ERVOE [UNIT (3)]

KOSCH [CHAR (18)]

MBRSH [CHAR (1)]

MSTAV [CHAR (2)]

PROFL [CHAR (3)]

MPROF [CHAR (4)]

SATNR [CHAR (18)]

MTPOS_MARA [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 MAPOV-PMATN = MARA-MATNR 

0..N

{0,1}

 MAPOV-SATNR = MARA-MATNR 0..N

0..N

T000

MANDT [CLNT (3)]
 MAPOV-MANDT = T000-MANDT 

0..N

1

T002

SPRAS [LANG (1)]

 MAPOV-SPRAS = T002-SPRAS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MAPOV-ERGEI = T006-MSEHI 

0..N

{0,1}

 MAPOV-ERVOE = T006-MSEHI 
0..N

{0,1}

 MAPOV-GEWEI = T006-MSEHI 0..N

{0,1}

 MAPOV-MEABM = T006-MSEHI 

0..N

{0,1}

 MAPOV-MEINS = T006-MSEHI 

0..N

1

 MAPOV-SCHME = T006-MSEHI 

0..N

{0,1}

 MAPOV-VOLEH = T006-MSEHI 

0..N

{0,1}

 MAPOV-VRKME = T006-MSEHI 

0..N

{0,1}

 MAPOV-ZIEME = T006-MSEHI 

0..N

{0,1}

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 MAPOV-MATKL = T023-MATKL 

0..N

{0,1}

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 MAPOV-MTART = T134-MTART 

0..N

1

T137

MANDT [CLNT (3)]

MBRSH [CHAR (1)]

 MAPOV-MBRSH = T137-MBRSH 

0..N

{0,1}

T142

MANDT [CLNT (3)]

RAUBE [CHAR (2)]

 MAPOV-RAUBE = T142-RAUBE 

0..N

{0,1}

T143

MANDT [CLNT (3)]

TEMPB [CHAR (2)]

 MAPOV-TEMPB = T143-TEMPB 
0..N

{0,1}

T178

MANDT [CLNT (3)]

KONDM [CHAR (2)] MAPOV-KONDM = T178-KONDM 0..N

{0,1}

T179

MANDT [CLNT (3)]

PRODH [CHAR (18)]

 MAPOV-PRDHA = T179-PRODH 
0..N

{0,1}

 MAPOV-PRODH = T179-PRODH 0..N

{0,1}

T190S

MANDT [CLNT (3)]

KOSCH [CHAR (18)]
 MAPOV-KOSCH = T190S-KOSCH 0..N

0..N

TDG41

MANDT [CLNT (3)]

PROFL [CHAR (3)]

 MAPOV-PROFL = TDG41-PROFL 
0..N

0..N

TMPPF

MANDT [CLNT (3)]

MPROF [CHAR (4)]

 MAPOV-MPROF = TMPPF-MPROF 

0..N

0..N

TNTP

MANDT [CLNT (3)]

NUMTP [CHAR (2)]

 MAPOV-NUMTP = TNTP-NUMTP 

0..N

{0,1}

TPTM

MANDT [CLNT (3)]

MTPOS [CHAR (4)]

 MAPOV-MTPOS = TPTM-MTPOS 

0..N

1

 MAPOV-MTPOS_MARA = TPTM-MTPOS 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 MAPOV-SPART = TSPA-SPART 

0..N

{0,1}

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)]

 MAPOV-TRAGR = TTGR-TRAGR 

0..N

{0,1}

TVBO

MANDT [CLNT (3)]

BONUS [CHAR (2)]

 MAPOV-BONUS = TVBO-BONUS 

0..N

{0,1}

TVEGR

MANDT [CLNT (3)]

MAGRV [CHAR (4)]

 MAPOV-MAGRV = TVEGR-MAGRV 

0..N

0..N

TVKM

MANDT [CLNT (3)]

KTGRM [CHAR (2)]

 MAPOV-KTGRM = TVKM-KTGRM 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 MAPOV-VKORG = TVKO-VKORG 

0..N

1

TVKWZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

WERKS [CHAR (4)]

 MAPOV-DWERK = TVKWZ-WERKS 

0..N

{0,1}

TVM1

MANDT [CLNT (3)]

MVGR1 [CHAR (3)]

 MAPOV-MVGR1 = TVM1-MVGR1 

0..N

{0,1}

TVM2

MANDT [CLNT (3)]

MVGR2 [CHAR (3)]

 MAPOV-MVGR2 = TVM2-MVGR2 

0..N

{0,1}

TVM3

MANDT [CLNT (3)]

MVGR3 [CHAR (3)]

 MAPOV-MVGR3 = TVM3-MVGR3 

0..N

{0,1}

TVM4

MANDT [CLNT (3)]

MVGR4 [CHAR (3)]

 MAPOV-MVGR4 = TVM4-MVGR4 

0..N

{0,1}

TVM5

MANDT [CLNT (3)]

MVGR5 [CHAR (3)]

 MAPOV-MVGR5 = TVM5-MVGR5 

0..N

{0,1}

TVMS

MANDT [CLNT (3)]

VMSTA [CHAR (2)]

 MAPOV-MSTAV = TVMS-VMSTA 

0..N

0..N

 MAPOV-VMSTA = TVMS-VMSTA 

0..N

{0,1}

TVPR

MANDT [CLNT (3)]

PROVG [CHAR (2)]

 MAPOV-PROVG = TVPR-PROVG 

0..N

{0,1}

TVSM

MANDT [CLNT (3)]

STGMA [CHAR (1)]

 MAPOV-VERSG = TVSM-STGMA 

0..N

{0,1}

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 MAPOV-VTWEG = TVTW-VTWEG 

0..N

1

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 MAPOV-VHART = TVTY-TRATY 

0..N

0..N

V_KNA1WETT

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MAPOV-KUNNR = V_KNA1WETT-KUNNR 

0..N

{0,1}


